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Figure 9. Slow rate tests with blower for corn. 
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Figure l 0. Slow rate tests with blower for sorghum. 
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SUMMARY 

1 .  The belt and bucket elevator remains the standard of comparison for locations 
where small grain is elevated vertically. 

A. From the standpoint of power required, it will elevate more grain for a given 
power applied, than will the auger or blower. 

B. This is because the power is applied essentially to the lifting of the grain, ver­
tically, with a minimum of frictional loss. In spite of this there is still con­
siderable power required to run the empty belt. 

C. The belt and bucket elevator must run at a satisfactory speed to unload the 
buckets at the top pulley. 

D. There must be feed-gate control at the lower end feeding chute so that the 
buckets are not overloaded. At the end of the run the gate should be closed. 
The elevator should be in motion before the gate is reopened. 

E. The motor drive should be from the top pulley where the full belt weight adds 
to the tension of the belt to have good driving action. 

F. Some installations call for an elevator of extreme height to get a satisfactory 
horizontal run through the discharge spout from the elevator top to an adja­
cent bin. (The motor is at the top and should be weather-proofed.) 

2. The auger can be made to elevate vertically if enough power is supplied. 

A. The power required is from 2 to 21V4 times that of the belt and bucket elevator. 

B. The single closed tube of the vertical auger is a desirable feature, taking up a 
minimum of space. There is only one major moving part, enclosed within the 
tube. 

C. The mechanical drive may be installed at either top or bottom, and the latter 
places the motor drive close to the ground floor level. The lower-end installa­
tion usually calls for an enclosed gearbox drive. 

D. The vertical auger works best with a force feed arrangement, and a logical one 
is to have a short horizontal auger feeding into the vertical auger at the lower 
end. 

E. The vertical auger will not clear itself of all of its grain, and causes some grain 
"mixing" problems from load to load. 

3. The impeller-blower has not been successful in test work for lifting grain to 
25 to 30 feet. 

A. These machines were designed to elevate grain to heights of 20 feet or less 
and discharge through an open type elbow. 

B. The test installation exceeded the 20-foot height, added a closed 90-degree 
elbow plus a cyclone collector; all of which caused extra friction and reduced 
air velocity in the pipe. 

C. Cracking of both corn and sorghum was severe with both of the models used. 
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